

Available online at www.sciencedirect.com



Physics Letters A 326 (2004) 364-374

PHYSICS LETTERS A

www.elsevier.com/locate/pla

New solutions to mKdV equation

Zuntao Fu*, Shida Liu, Shikuo Liu

School of Physics, Peking University, Beijing 100871, PR China Received 10 July 2003; received in revised form 16 January 2004; accepted 28 April 2004 Available online 11 May 2004 Communicated by A.R. Bishop

Abstract

A transformation is introduced on the basis of the projective Riccati equations, and it is applied as an intermediate in expansion method to solve mKdV equation. Many kinds of travelling wave solutions including solitary wave solution are obtained, in which some are found for the first time. © 2004 Elsevier B.V. All rights reserved.

PACS: 03.65.Ge

Keywords: Projective Riccati equations; mKdV equation; Travelling wave solution; Solitary wave solution

1. Introduction

A number of problems are described in terms of suitable nonlinear models, such as nonlinear Schrödinger equations in plasma physics [1], KdV equation in shallow water model [2] and so on, in branches of physics, mathematics and other interdisciplinary sciences. Recently, special attention has been devoted in literature for solving nonlinear evolution equations, and many methods have been proposed to construct exact solutions to nonlinear equations, such as the homogeneous balance method [3,4], the nonlinear transformation method [5,6], the trial function method [7,8] and so on. Among them the function transformation method [9,10], the hyperbolic function expansion method [11,12], the Jacobi elliptic function expansion method [13,14] and the sine–cosine method [15] can be taken as expansion methods, in which some basic functions or transformations from some famous equation(s) are needed. For example, the basic transformation in the function transformation method [11,12] are hyperbolic functions, the bases in the Jacobi elliptic function expansion method [13,14] are the Jacobi elliptic function expansion method [11,12] are hyperbolic functions, the bases in the Jacobi elliptic function expansion method [13,14] are the Jacobi elliptic functions [16–19] and the bases in the sine–cosine method [15] are sine and cosine functions.

In this Letter, we will reconsider this case. A transformation is obtained from the well-known projective Riccati equations [20–22], and then this transformation is taken as an intermediate to solve mKdV equation. Many kinds

Corresponding author.

E-mail address: fuzt@pku.edu.cn (Z. Fu).

 $^{0375\}text{-}9601/\$-$ see front matter @ 2004 Elsevier B.V. All rights reserved. doi:10.1016/j.physleta.2004.04.059

of travelling wave solutions including solitary wave solutions are derived, among them some are found for the first time.

2. Analysis on the projective Riccati equations

The well-known projective Riccati equations [20-22] read

$$f'(\xi) = pf(\xi)g(\xi),\tag{1a}$$

$$g'(\xi) = q + pg^2(\xi) - rf(\xi),$$
 (1b)

where $p \neq 0$ is a real constant, q and r are two real constants. When p = -1 and q = 1, Eqs. (1) reduce to the coupled equations given in the references [20,21], and when $p = \pm 1$ and $q \ge 0$, Eqs. (1) reduce to the coupled equations given in the Ref. [22].

Next, we will analyze the solutions to Eqs. (1). From Eq. (1a), one has

$$g = \frac{1}{p} \frac{f'}{f}.$$
(2)

Substituting Eq. (2) into Eq. (1b) leads to

$$f''f - 2f'^2 - pqf^2 + prf^3 = 0.$$
(3)

In order to solve Eq. (3), we introduce the following transformation

$$f = \frac{1}{w},\tag{4}$$

then

$$\frac{f'}{f} = -\frac{w'}{w}, \qquad g = -\frac{1}{p}\frac{w'}{w} \tag{5}$$

and

$$w'' + pqw - pr = 0. (6)$$

For the solutions to Eq. (6), two basic cases need to be considered. The first basic case is

Case A: $q \neq 0$

There are still two cases need to be considered. The first one is

Case A1: pq < 0Then we can assume $k^2 = -pq$, the Eq. (6) can be rewritten as

$$w'' - k^2 w - pr = 0, (7)$$

and the general solution to Eq. (7) is

$$w = a_0 + a_1 \sinh k\xi + a_2 \cosh k\xi, \tag{8}$$

where $a_0 = r/q$, i.e.,

$$w = \frac{r}{q} + a_1 \sinh(\sqrt{-pq}\xi) + a_2 \cosh(\sqrt{-pq}\xi).$$
(9)

Considering the relation in Eq. (5), here we select two special solutions from Eq. (9). The first one is

$$w = \frac{r}{q} + \frac{1}{q}\sinh(\sqrt{-pq}\xi),\tag{10}$$

then

$$f_1 = \frac{1}{w} = \frac{q}{r + \sinh(\sqrt{-pq}\xi)} \tag{11}$$

and

$$g_1 = -\frac{1}{p}\frac{w'}{w} = -\frac{1}{p}\frac{\sqrt{-pq}\cosh(\sqrt{-pq}\xi)}{r + \sinh(\sqrt{-pq}\xi)}.$$
(12)

From Eqs. (11) and (12) one can derive the relation between $f(\xi)$ and $g(\xi)$

$$g_1^2 = -\frac{1}{p} \left[q - 2rf_1 + \frac{r^2 + 1}{q} f_1^2 \right].$$
(13)

The second one is

$$w = \frac{r}{q} + \frac{1}{q}\cosh(\sqrt{-pq}\xi),\tag{14}$$

then

$$f_2 = \frac{1}{w} = \frac{q}{r + \cosh(\sqrt{-pq\xi})} \tag{15}$$

and

$$g_2 = -\frac{1}{p}\frac{w'}{w} = -\frac{1}{p}\frac{\sqrt{-pq}\sinh(\sqrt{-pq}\xi)}{r + \cosh(\sqrt{-pq}\xi)}.$$
(16)

From Eqs. (15) and (16) one can derive the relation between $f(\xi)$ and $g(\xi)$

$$g_2^2 = -\frac{1}{p} \left[q - 2rf_2 + \frac{r^2 - 1}{q} f_2^2 \right].$$
 (17)

Case A2: pq > 0

Then we can assume $k^2 = pq$, the Eq. (6) can be rewritten as

$$w'' + k^2 w - pr = 0, (18)$$

and the general solution to Eq. (18) is

$$w = a_0 + a_1 \sin k\xi + a_2 \cos k\xi,$$
(19)

where $a_0 = r/q$, i.e.,

$$w = \frac{r}{q} + a_1 \sin(\sqrt{pq}\xi) + a_2 \cos(\sqrt{pq}\xi).$$
⁽²⁰⁾

Considering the relation in Eq. (5), here we also select two special solutions from Eq. (20). The first one is

$$w = \frac{r}{q} + \frac{1}{q}\sin(\sqrt{pq}\xi),\tag{21}$$

then

$$f_3 = \frac{1}{w} = \frac{q}{r + \sin(\sqrt{pq}\xi)} \tag{22}$$

and

$$g_3 = -\frac{1}{p}\frac{w'}{w} = -\frac{1}{p}\frac{\sqrt{pq}\cos(\sqrt{pq}\xi)}{r+\sin(\sqrt{pq}\xi)}.$$
(23)

From Eqs. (22) and (23) one can derive the relation between $f(\xi)$ and $g(\xi)$ is just the same as (17). The second one is

$$w = \frac{r}{q} + \frac{1}{q}\cos(\sqrt{pq}\xi),\tag{24}$$

then

$$f_4 = \frac{1}{w} = \frac{q}{r + \cos(\sqrt{pq}\xi)} \tag{25}$$

and

$$g_4 = -\frac{1}{p}\frac{w'}{w} = \frac{1}{p}\frac{\sqrt{pq}\sin(\sqrt{pq\xi})}{r + \cos(\sqrt{pq\xi})}.$$
(26)

From Eqs. (25) and (26) one can derive the relation between $f(\xi)$ and $g(\xi)$ is just the same as (17).

The second basic case is

Case B:
$$q = 0$$

Then Eq. (6) can be rewritten as
 $w'' - pr = 0.$ (27)

Its general solution is

$$w = \frac{pr}{2}\xi^2 + a_1\xi + a_0,$$
(28)

where a_1 and a_0 are two arbitrary real constants.

1

From Eq. (28), one has

1

$$f_5 = \frac{1}{w} = \frac{1}{\frac{pr}{2}\xi^2 + a_1\xi + a_0}$$
(29)

and

$$g_5 = -\frac{1}{p}\frac{w'}{w} = -\frac{1}{p}\frac{pr\xi + a_1}{\frac{pr}{2}\xi^2 + a_1\xi + a_0}.$$
(30)

Remark 1. In the Refs. [20,21], they considered the case for q = 1 and p = -1, so there is only a special case of Eqs. (15) and (16).

Remark 2. In the Ref. [22], they considered the case for $q \ge 0$ and $p = \pm 1$, so there are only some special cases of case A and case B. It is worthy noting that the solutions to g given in the Ref. [22] are wrong (in Ref. [22], corresponding solutions are $\tau_1 \sim \tau_4$).

Remark 3. In the Ref. [22], the given relation between f and g is corresponding to Eq. (17) when $p = \pm 1$, but no relation (13), so it is wrong for the case (11) and (12).

3. Application of solutions from the projective Riccati equations

In the above section, we discuss the solutions to the projective Riccati equations under some conditions. In fact, the solutions to the projective Riccati equations combining the relations between the solutions can construct an intermediate transformation, and this transformation can be applied to solve nonlinear evolution equations. Here when $q \neq 0$, the solutions to f and g are taken as two bases in the expansion method, i.e.,

$$u(\xi) = \sum_{i=1}^{n} f^{i-1}(\xi) \Big[A_i f(\xi) + B_i g(\xi) \Big] + A_0, \qquad A_n^2 + B_n^2 \neq 0, \tag{31}$$

where $u(\xi)$ is a nonzero solution to any nonlinear evolution equation, *n* can be determined by balancing the highest order derivative term with the high degree nonlinear term in the given nonlinear evolution equation. And *f* and *g* satisfy the projective Riccati equations (1), there is the relation between *f* and *g*

$$g_j^2 = -\frac{1}{p} \left[q - 2rf_j + \frac{r^2 + \delta}{q} f_j^2 \right], \quad j = 1, 2, 3, 4,$$
(32)

where $\delta = \pm 1$, if j = 1, then $\delta = 1$, otherwise, $\delta = -1$.

12

Next, we take mKdV equation as an example to illustrate the application of the solutions from the projective Riccati equations. The mKdV equation reads

$$\frac{\partial u}{\partial t} + \alpha u^2 \frac{\partial u}{\partial x} + \beta \frac{\partial^3 u}{\partial x^3} = 0,$$
(33)

where u is a real function, and β are real numbers. We seek its travelling wave solution, i.e.,

$$u = u(\xi), \quad \xi = x - ct, \tag{34}$$

where c is wave speed. Substitution Eq. (34) into Eq. (33) yields

$$-c\frac{du}{d\xi} + \alpha u^2 \frac{du}{d\xi} + \beta \frac{d^3 u}{d\xi^3} = 0,$$
(35)

i.e.,

$$-cu + \frac{\alpha}{3}u^3 + \beta \frac{d^2u}{d\xi^2} = c_0,$$
(36)

where c_0 is an integration constant.

Applying expansion method, if we take the expansion order of *u* as O(u) = n and considering the relations (1), then $O(\frac{du}{d\xi}) = n + 1$, so partial balance between the highest degree nonlinear term and the highest order derivative term leads to n = 1. Obviously, the formal solution can be written as

$$u = A_0 + A_1 f(\xi) + B_1 g(\xi), \qquad A_1^2 + B_1^2 \neq 0.$$
(37)

Considering the relation (32), from Eq. (37) one can has

$$u^{3} = \left[A_{0}^{3} - \frac{3q}{p}A_{0}B_{1}^{2}\right] + \left[3A_{0}^{2}B_{1} - \frac{q}{p}B_{1}^{3}\right]g + \left[3A_{0}^{2}A_{1} - \frac{3q}{p}A_{1}B_{1}^{2} + \frac{6r}{p}A_{0}B_{1}^{2}\right]f + \left[6A_{0}A_{1}B_{1} + \frac{2r}{p}B_{1}^{3}\right]fg + \left[3A_{0}A_{1}^{2} + \frac{6r}{p}A_{1}B_{1}^{2} - \frac{3(r^{2} + \delta)}{pq}A_{0}B_{1}^{2}\right]f^{2} + \left[3A_{1}^{2}B_{1} - \frac{(r^{2} + \delta)}{pq}B_{1}^{3}\right]f^{2}g + \left[A_{1}^{3} - \frac{3(r^{2} + \delta)}{pq}A_{1}B_{1}^{2}\right]f^{3}$$

$$(38)$$

and

$$\frac{d^2u}{d\xi^2} = -pqA_1f + prB_1fg + 3prA_1f^2 - \frac{2p(r^2 + \delta)}{q}B_1f^2g - \frac{2p(r^2 + \delta)}{q}A_1f^3.$$
(39)

Substituting Eqs. (37), (38) and (39) into Eq. (36) yields

$$\begin{bmatrix} -cA_{0} + \frac{\alpha}{3} \left(A_{0}^{3} - \frac{3q}{p} A_{0} B_{1}^{2} \right) - c_{0} \end{bmatrix} + \begin{bmatrix} -cA_{1} + \frac{\alpha}{3} \left(-\frac{3q}{p} A_{1} B_{1}^{2} + \frac{6r}{p} A_{0} B_{1}^{2} + 3A_{0}^{2} A_{1} \right) - \beta pq A_{1} \end{bmatrix} f$$

$$+ \begin{bmatrix} -cB_{1} + \frac{\alpha}{3} \left(-\frac{q}{p} B_{1}^{3} + 3A_{0}^{2} B_{1} \right) \end{bmatrix} g + \begin{bmatrix} \frac{\alpha}{3} \left(\frac{2r}{p} B_{1}^{3} + 6A_{0} A_{1} B_{1} \right) + \beta pr B_{1} \end{bmatrix} fg$$

$$+ \begin{bmatrix} \frac{\alpha}{3} \left(\frac{6r}{p} A_{1} B_{1}^{2} - \frac{3(r^{2} + \delta)}{pq} A_{0} B_{1}^{2} + 3A_{0} A_{1}^{2} \right) + 3\beta pr A_{1} \end{bmatrix} f^{2}$$

$$+ \begin{bmatrix} \frac{\alpha}{3} \left(3A_{1}^{2} B_{1} - \frac{(r^{2} + \delta)}{pq} B_{1}^{3} \right) - \frac{2\beta p(r^{2} + \delta)}{q} B_{1} \end{bmatrix} f^{2}g$$

$$+ \begin{bmatrix} \frac{\alpha}{3} \left(A_{1}^{3} - \frac{3(r^{2} + \delta)}{pq} A_{1} B_{1}^{2} \right) - \frac{2\beta p(r^{2} + \delta)}{q} A_{1} \end{bmatrix} f^{3} = 0.$$

$$(40)$$

The arbitrariness of the argument ξ results in the following algebraic equations

$$-cA_0 + \frac{\alpha}{3} \left(A_0^3 - \frac{3q}{p} A_0 B_1^2 \right) - c_0 = 0, \tag{41a}$$

$$-cA_1 + \frac{\alpha}{3} \left(-\frac{3q}{p} A_1 B_1^2 + \frac{6r}{p} A_0 B_1^2 + 3A_0^2 A_1 \right) - \beta pqA_1 = 0,$$
(41b)

$$-cB_1 + \frac{\alpha}{3} \left(-\frac{q}{p} B_1^3 + 3A_0^2 B_1 \right) = 0, \tag{41c}$$

$$\frac{\alpha}{3} \left(\frac{2r}{p} B_1^3 + 6A_0 A_1 B_1\right) + \beta pr B_1 = 0, \tag{41d}$$

$$\frac{\alpha}{3} \left(\frac{6r}{p} A_1 B_1^2 - \frac{3(r^2 + \delta)}{pq} A_0 B_1^2 + 3A_0 A_1^2 \right) + 3\beta pr A_1 = 0,$$
(41e)

$$\frac{\alpha}{3} \left(3A_1^2 B_1 - \frac{(r^2 + \delta)}{pq} B_1^3 \right) - \frac{2\beta p(r^2 + \delta)}{q} B_1 = 0,$$
(41f)

$$\frac{\alpha}{3} \left(A_1^3 - \frac{3(r^2 + \delta)}{pq} A_1 B_1^2 \right) - \frac{2\beta p(r^2 + \delta)}{q} A_1 = 0,$$
(41g)

from which the parameters can be determined. For example, for $\delta = -1$, there are the following solutions

Case 1. If $A_1 = 0$, $A_0 = 0$, r = 0, then

$$B_1 = \pm \sqrt{-\frac{6\beta p^2}{\alpha}}, \qquad pq = \frac{c}{2\beta}, \tag{42}$$

obviously, there is the constraint $\alpha\beta < 0$.

Case 2. If $A_1 = 0$, $A_0 = 0$, $r \neq 0$, then

$$B_1 = \pm \sqrt{-\frac{3\beta p^2}{2\alpha}}, \qquad pq = \frac{2c}{\beta}, \qquad r = \pm 1, \tag{43}$$

obviously, there is the constraint $\alpha\beta < 0$, too.

Case 3. If $B_1 = 0$, $A_0 = 0$, then

$$A_1 = \pm \sqrt{\frac{6\beta^2 p^2}{\alpha c}}, \qquad pq = -\frac{c}{\beta}, \qquad r = 0.$$

$$\tag{44}$$

Case 4. If $B_1 = 0$, $A_0 \neq 0$, then

$$A_1 = \pm \sqrt{\frac{3\beta^2 p^2 (r^2 + 2)}{\alpha c}}, \qquad A_0 = \pm \sqrt{\frac{3cr^2}{\alpha (r^2 + 2)}}, \qquad pq = \frac{2(r^2 - 1)c}{\beta (r^2 + 2)}, \tag{45}$$

there is the constraint $r \neq 0$ and $r^2 \neq 1$.

Case 5. If $A_0 = 0$, $A_1 \neq 0$, $B_1 \neq 0$, then

$$A_{1} = \pm \sqrt{\frac{3\beta^{2} p^{2} (r^{2} - 1)}{4\alpha c}}, \qquad B_{1} = \pm \sqrt{-\frac{3\beta p^{2}}{2\alpha}}, \qquad pq = \frac{2c}{\beta}$$
(46)

with the constraint $r^2 \neq 1$.

For $\delta = 1$, there are the following solutions

Case 1. If $A_1 = 0$, $A_0 = 0$, r = 0, then

$$B_1 = \pm \sqrt{-\frac{6\beta p^2}{\alpha}}, \qquad pq = \frac{c}{2\beta}, \tag{47}$$

obviously, there is the constraint that $\alpha\beta < 0$.

Case 2. If $B_1 = 0$, $A_0 = 0$, then

$$A_1 = \pm \sqrt{-\frac{6\beta^2 p^2}{\alpha c}}, \qquad pq = -\frac{c}{\beta}, \qquad r = 0.$$

$$\tag{48}$$

Case 3. If $B_1 = 0$, $A_0 \neq 0$, then

$$A_1 = \pm \sqrt{\frac{3\beta^2 p^2 (r^2 - 2)}{\alpha c}}, \qquad A_0 = \pm \sqrt{\frac{3cr^2}{\alpha (r^2 - 2)}}, \qquad pq = \frac{2(r^2 + 1)c}{\beta (r^2 - 2)}, \tag{49}$$

there is the constraint $r \neq 0$ and $r^2 \neq 2$.

Case 4. If $A_0 = 0$, $A_1 \neq 0$, $B_1 \neq 0$, then

$$A_{1} = \pm \sqrt{\frac{3\beta^{2}p^{2}(r^{2}+1)}{4\alpha c}}, \qquad B_{1} = \pm \sqrt{-\frac{3\beta p^{2}}{2\alpha}}, \qquad pq = \frac{2c}{\beta}.$$
(50)

Combining the results (11), (12), (15), (16), (22), (23), (25) and (26) with (37) and from (42) to (50), we can obtain many kinds of travelling wave solutions to mKdV equation (33):

Type 1. For $\delta = -1$, if $\alpha\beta < 0$ and $c\beta < 0$, then the solution to mKdV equation (33) is

$$u_1 = B_1 g = \mp \sqrt{\frac{3c}{\alpha}} \tanh\left(\sqrt{-\frac{c}{2\beta}}\xi\right).$$
(51)

Type 2. For $\delta = -1$, if $\alpha \beta < 0$ and $c\beta > 0$, then the solution to mKdV equation (33) is

$$u_2 = B_1 g = \mp \sqrt{-\frac{3c}{\alpha}} \cot\left(\sqrt{\frac{c}{2\beta}}\xi\right)$$
(52)

and

$$u_3 = B_1 g = \pm \sqrt{-\frac{3c}{\alpha}} \tan\left(\sqrt{\frac{c}{2\beta}}\xi\right).$$
(53)

Type 3. For $\delta = -1$, if $\alpha\beta < 0$ and $c\beta < 0$, then the solution to mKdV equation (33) is

$$u_4 = B_1 g = \mp \sqrt{\frac{3c}{\alpha}} \frac{\sinh\left(\sqrt{-\frac{2c}{\beta}}\xi\right)}{\cosh\left(\sqrt{-\frac{2c}{\beta}}\xi\right) \pm 1}.$$
(54)

Type 4. For $\delta = -1$, if $\alpha\beta < 0$ and $c\beta > 0$, then the solution to mKdV equation (33) is

$$u_5 = B_1 g = \mp \sqrt{-\frac{3c}{\alpha}} \frac{\cos(\sqrt{\frac{2c}{\beta}}\xi)}{\sin(\sqrt{\frac{2c}{\beta}}\xi) \pm 1}$$
(55)

and

$$u_6 = B_1 g = \pm \sqrt{-\frac{3c}{\alpha}} \frac{\sin(\sqrt{\frac{2c}{\beta}}\xi)}{\cos(\sqrt{\frac{2c}{\beta}}\xi) \pm 1}.$$
(56)

Type 5. For $\delta = -1$, if $\alpha c > 0$ and $c\beta > 0$, then the solution to mKdV equation (33) is

$$u_7 = A_1 f = \mp \sqrt{\frac{6c}{\alpha}} \operatorname{sech}\left(\sqrt{\frac{c}{\beta}}\xi\right).$$
(57)

Type 6. For $\delta = -1$, if $\alpha c > 0$ and $c\beta < 0$, then the solution to mKdV equation (33) is

$$u_8 = A_1 f = \pm \sqrt{\frac{6c}{\alpha}} \csc\left(\sqrt{-\frac{c}{\beta}}\xi\right)$$
(58)

and

$$u_9 = A_1 f = \pm \sqrt{\frac{6c}{\alpha}} \sec\left(\sqrt{-\frac{c}{\beta}}\xi\right).$$
(59)

Type 7. For $\delta = -1$, if $\alpha c > 0$ and $(r^2 - 1)c\beta < 0$, then the solution to mKdV equation (33) is

$$u_{10} = A_0 + A_1 f = \pm \sqrt{\frac{3cr^2}{\alpha(r^2 + 2)}} \pm \frac{2(r^2 - 1)c}{p\beta(r^2 + 2)} \sqrt{\frac{3\beta^2 p^2(r^2 + 2)}{\alpha c}} \frac{1}{\cosh\left(\sqrt{\frac{2(1 - r^2)c}{\beta(r^2 + 2)}}\xi\right) + r}$$
(60)

with the constraint that $r \neq 0$ and $r^2 \neq 1$.

Type 8. For $\delta = -1$, if $\alpha c > 0$ and $(r^2 - 1)c\beta > 0$, then the solution to mKdV equation (33) is

$$u_{11} = A_0 + A_1 f = \pm \sqrt{\frac{3cr^2}{\alpha(r^2 + 2)}} \pm \frac{2(r^2 - 1)c}{p\beta(r^2 + 2)} \sqrt{\frac{3\beta^2 p^2(r^2 + 2)}{\alpha c}} \frac{1}{\sin\left(\sqrt{\frac{2(r^2 - 1)c}{\beta(r^2 + 2)}}\xi\right) + r}$$
(61)

and

$$u_{12} = A_0 + A_1 f = \pm \sqrt{\frac{3cr^2}{\alpha(r^2 + 2)}} \pm \frac{2(r^2 - 1)c}{p\beta(r^2 + 2)} \sqrt{\frac{3\beta^2 p^2(r^2 + 2)}{\alpha c}} \frac{1}{\cos\left(\sqrt{\frac{2(r^2 - 1)c}{\beta(r^2 + 2)}}\xi\right) + r}$$
(62)

with the constraint that $r \neq 0$ and $r^2 \neq 1$.

Type 9. For $\delta = -1$, if $\alpha \beta < 0$, $c\beta < 0$ and $r^2 > 1$, then the solution to mKdV equation (33) is

$$u_{13} = A_1 f + B_1 g = \pm \frac{2c}{\beta p} \sqrt{\frac{3\beta^2 p^2 (r^2 - 1)}{4\alpha c}} \frac{1}{\cosh(\sqrt{-\frac{2c}{\beta}}\xi) + r} \mp \sqrt{\frac{3c}{\alpha}} \frac{\sinh(\sqrt{-\frac{2c}{\beta}}\xi)}{\cosh(\sqrt{-\frac{2c}{\beta}}\xi) + r}$$
(63)

with the constraint $r^2 \neq 1$.

Type 10. For $\delta = -1$, if $\alpha\beta < 0$, $c\beta > 0$ and $r^2 < 1$, then the solution to mKdV equation (33) is

$$u_{14} = A_1 f + B_1 g = \pm \frac{2c}{\beta p} \sqrt{\frac{3\beta^2 p^2 (r^2 - 1)}{4\alpha c}} \frac{1}{\sin\left(\sqrt{\frac{2c}{\beta}}\xi\right) + r} \mp \sqrt{-\frac{3c}{\alpha}} \frac{\cos\left(\sqrt{\frac{2c}{\beta}}\xi\right)}{\sin\left(\sqrt{\frac{2c}{\beta}}\xi\right) + r}$$
(64)

and

$$u_{15} = A_1 f + B_1 g = \pm \frac{2c}{\beta p} \sqrt{\frac{3\beta^2 p^2 (r^2 - 1)}{4\alpha c}} \frac{1}{\cos(\sqrt{\frac{2c}{\beta}}\xi) + r} \pm \sqrt{-\frac{3c}{\alpha}} \frac{\sin(\sqrt{\frac{2c}{\beta}}\xi)}{\cos(\sqrt{\frac{2c}{\beta}}\xi) + r}$$
(65)

with the constraint $r^2 \neq 1$.

Type 11. For $\delta = 1$, if $\alpha \beta < 0$ and $c\beta < 0$, then the solution to mKdV equation (33) is

$$u_{16} = B_1 g = \mp \sqrt{\frac{3c}{\alpha}} \coth\left(\sqrt{-\frac{c}{2\beta}}\xi\right). \tag{66}$$

Type 12. For $\delta = 1$, if $\alpha c < 0$ and $c\beta > 0$, then the solution to mKdV equation (33) is

$$u_{17} = A_1 f = \mp \sqrt{-\frac{6c}{\alpha}} \operatorname{csch}\left(\sqrt{\frac{c}{\beta}}\xi\right).$$
(67)

Type 13. For $\delta = 1$, if $\alpha c(r^2 - 2) > 0$ and $(r^2 - 2)c\beta < 0$, then the solution to mKdV equation (33) is

$$u_{18} = A_0 + A_1 f = \pm \sqrt{\frac{3cr^2}{\alpha(r^2 - 2)}} \pm \frac{2(r^2 + 1)c}{p\beta(r^2 - 2)} \sqrt{\frac{3\beta^2 p^2(r^2 - 2)}{\alpha c}} \frac{1}{\sinh\left(\sqrt{\frac{2(1 + r^2)c}{\beta(2 - r^2)}}\xi\right) + r}$$
(68)

with the constraint that $r \neq 0$ and $r^2 \neq 2$.

Type 14. For $\delta = 1$, if $\alpha\beta < 0$ and $c\beta < 0$, then the solution to mKdV equation (33) is

$$u_{19} = A_1 f + B_1 g = \pm \frac{2c}{\beta p} \sqrt{\frac{3\beta^2 p^2 (r^2 + 1)}{4\alpha c}} \frac{1}{\sinh(\sqrt{-\frac{2c}{\beta}}\xi) + r} \mp \sqrt{\frac{3c}{\alpha}} \frac{\cosh(\sqrt{-\frac{2c}{\beta}}\xi)}{\sinh(\sqrt{-\frac{2c}{\beta}}\xi) + r}.$$
(69)

Obviously, the solutions u_1 , u_2 , u_3 , u_7 , u_8 , u_9 , u_{16} and u_{17} are general solitary wave solutions and periodic solutions expressed by sine–cosine functions which can be found in the usual expansion methods, such as the function transformation method [9,10], the hyperbolic function expansion method [11,12], the Jacobi elliptic function expansion method [13,14] and the sine–cosine method [15]. But the solutions u_4 , u_5 , u_6 , u_{10} , u_{11} , u_{12} , u_{13} , u_{14} , u_{15} , u_{18} and u_{19} cannot be obtained in these expansion methods. These solutions are new type solitary wave solutions or new type periodic solutions expressed by sine–cosine functions, and some of them have not been found before.

4. Conclusion

In this Letter, we introduce a new transformation from the projective Riccati equations and apply it to solve mKdV equation. Many solutions are obtained for this mKdV equation, such as solitary wave solutions constructed in terms of hyperbolic functions, periodic solutions expressed in terms of sine and cosine functions, some solutions are not given in literature to our knowledge. Of course, this transformation can be also applied to other nonlinear wave equations. Furthermore, in this Letter, we correct some errors found in some literature.

Acknowledgements

Many thanks are owing to suggestions from the anonymous referees, supports from National Natural Science Foundation of China (No. 40305006) and from the Ministry of Science and Technology of China through special public welfare project under the grant 2002DIB20070.

References

- [1] P.K. Shukla, N.N. Rao, M.Y. Yu, et al., Phys. Rep. 138 (1986) 1.
- [2] M.J. Ablowitz, H. Segur, Solitons and the Inverse Scattering Transform, SIAM, Philadelphia, 1981.
- [3] M.L. Wang, Phys. Lett. A 199 (1995) 169.
- [4] M.L. Wang, Y.B. Zhou, Z.B. Li, Phys. Lett. A 216 (1996) 67.
- [5] R. Hirota, J. Math. Phys. 14 (1973) 810.
- [6] N.A. Kudryashov, Phys. Lett. A 147 (1990) 287.
- [7] S.K. Liu, Z.T. Fu, S.D. Liu, Q. Zhao, Appl. Math. Mech. 22 (2001) 326.
- [8] M. Otwinowski, R. Paul, W.G. Laidlaw, Phys. Lett. A 128 (1988) 483.
- [9] C.L. Bai, Phys. Lett. A 288 (2001) 191.

- [10] Z.T. Fu, S.K. Liu, S.D. Liu, Phys. Lett. A 299 (2002) 507.
- [11] E.G. Fan, Phys. Lett. A 277 (2000) 212.
- [12] E.J. Parkes, B.R. Duffy, Phys. Lett. A 229 (1997) 217.
- [13] Z.T. Fu, S.K. Liu, S.D. Liu, Q. Zhao, Phys. Lett. A 290 (2001) 72.
- [14] S.K. Liu, Z.T. Fu, S.D. Liu, Q. Zhao, Phys. Lett. A 289 (2001) 69.
- [15] C.T. Yan, Phys. Lett. A 224 (1996) 77.
- [16] S.K. Liu, S.D. Liu, Nonlinear Equations in Physics, Peking Univ. Press, Beijing, 2000.
- [17] F. Bowman, Introduction to Elliptic Functions with Applications, Universities, London, 1959.
- [18] V. Prasolov, Y. Solovyev, Elliptic Functions and Elliptic Integrals, American Mathematical Society, Providence, 1997.
- [19] Z.X. Wang, D.R. Guo, Special Functions, World Scientific, Singapore, 1989.
- [20] R. Conte, M. Musette, J. Phys. A: Math. Gen. 25 (1992) 2609.
- [21] G.X. Zhang, Z.B. Li, Y.S. Duan, Sci. China Ser. A 30 (12) (2000) 1103.
- [22] Z.Y. Yan, Chaos Solitons Fractals 16 (2003) 759.